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COMMERCE
( Honours. Core)
Paper : COM-HC-5026

( Fundamentals of Financial Managemeﬁt )

Full Marks : 70

Time : Three hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

1. Choose the right answer : 1x10=10
W Seqrol AR BfEred! ¢

(i) Market capitalisation is a measure of—

ISR LRI HRS (SN0t 2Af[{wiet Fg2
(@) wealth created by equity
23300 &Fe 91 =M

(b) share price indicator of the equity
 AfSUINER SREsES T B
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| (1)

(1i7)

(c) market price indicator of the
securities

Ei[\_og O IS A& IO

(d) cost of equity as compared to
market price of the equity

25209 @ o Pele 2P0 @
Sel

Cost of preference share is
CRIEEaAC IR
(a) treated for tax
(b) not treated for tax
R AR
(¢) only occasionally treated for tax
(d) None of the above
©2[9F le 777

Internal rate of return is the discount
rate of which— .

SIER1 IR T 25 A 7 T o—
(@) NPV > 0
(b) NPV < 0
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()

(v)

(c). NBPV.= 0
(d) None of the above
G99 b1 =

Current assets are twice the current
liabilities. If working capital is
Rs. 20,000, current assets would be
pfere i€ vfete (g wRwd 27 | Tt SRS
EEH 20,000 G 2, (O0F bero Tifeq
s{fSalel 29 |

(@ Rs. 10,000 (50,000 G)
(b)~ Rs. 40,000 (80,000 GHl)
(c) Rs. 80,000 (vo,000 GHl)
(d) Rs. 20,000 (X0,000 GFl)

Profit maximisation ignores

wle TP SFY 2 T/

(@) wealth wle CA-L &
R T2, oo = die ~ A

(b) time value of money

(c) net value
oS T

(d) None of the above
G99 Gol8 T
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(i)

The net working capital is the excess
of current assets over current liabilities.

AT IR A T BleTe O @it
e e ARAH]

(@) True (3751)
(b) False (fim)

In respect of raising finance from new

issue market, companies are prohibited

from issuing shares at a discount

except in the case of issue of sweat

equity shares.

TN TG N I, (X6 36 (=7 A,
q1C |

(@) True (b)) g

~(b) False (fm)

(viii) When profitability index exce.eds one

the proposal is rejected.
@Al profitability index @99 @s® =

- (ofT &E aze ) TEF |

(@) True (351)
(b) False (f)
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(ix) When the company pays dividend in
the form of bond, it is called property
dividend. :

@I @A T8 Fore Aol T, cofel
O AifE TNt @IET|

(@) True (371)

% False ()

(x) The profitability index or benefit cost
ratio is the relation between the present
value of future net cash flow and the
initial cash outlay.

SRATS 717 719l AFS FoI 4= eI N AT
o R T T TS TG o
(PofR) 3 se T SAte ([per) |

(@ True (b)) ,

(b) False (F=)

2. Answer the following questions in about

50 words each : 2x5=10
e PR Aot BeT 505! T i fTeso
foral 3 .

(a) State the objectives of wealth
maximisation. :

T SETONRR Bl Bz T4 |
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(b) State the meaning of EPS. ' (d) Discuss the use of .internal rate of

EPS-J o12f Traid <41 | , return (IRR).

(%’ State the meaning of Internal Rate of STeTE1 SIEE [ IR (A hall

Return. ' (e) State the circumstances which
G0 TIRY AT o fee _ ' warrants issue of bonus shares.
(d) What is stock dividend ? = @ ~ffEfoe @Hb Sixi7@ [ T9 S5
T TTeIIA] e : o3 TrEd 4 | ‘
() What is - cash management ? () Examine the importance of accounts

/T ARDEE 6 : . receivables management.

3. Answer the following questions within 211 =Bt ~AIBIoTTIN &g Ao 1 |

150-200 words each : (any four) 5x4=20

IBI&HE eEPTRS 2fO Tes 1 50-20056] *%< { : 4. Answer any three of the following questions

foee &1l ¢ (Rieiznt o157) e M in about 600 words each : 10x3=30

(a) Define opportunity cost of capital. How ‘ L e [Pl fofasr e Ao AT 6006]
~ is it computed ? . s foede ol ¢

Opportunity cost of capital ¥ #ges| fral | e h ope and .ob"ectives of

i~ E (a) scuss the scop )]

L (A [ =1 277 financial management.
@Disﬁnguis}% between financial leverage e AIREEEE AT S CEEIER SNEs]
' and operating leverage. .

et fereite o Sies freimes eren@m |

o7l | ’ (b) Discuss modern methods of capital

/(c) State the limitations of financial pudecHRE

management. _ ; JEE ACGUFI YT ARO@T S

et AfRBEAE TRRmerER S = | _ 4l |
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(c)

(d)

(e)

Define working capital. What
considerations are taken into account
in estimating the amount of working
capital requirements in a newly started
company ? : 2+8=10

Wwwwa@ﬁmﬁ@@mﬁm@
I oL e FeEee & R
SR 27?2 |

Elaborate the determinants: of capital
structure of a corporate entity and the
benefits of a balanced capital structure.

6+4=10
T AfSVE GOR IER Gl el
R 9262 FHl O SIEe e

SR SRSl |

Elaborate Modigliani and Miller
hypothesis of dividend decisions.
Examine its validity. :

sTepic fReweis Braie (9w Modigliani Sii
Miller F 4199 {ICT SNCa6 <1 | 3T s
sRerAIsTel [esEe 411

ABC Ltd. is considering an investment
proposal to install a new industrial
mixer at a cost of Rs. 10,00,000. The
facility has a life expectancy of 5 years
and has no salvage value.
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The estimated revenue before
depreciation and taxes from the
investment are as follows :

Year " Expected Revenue
(before depreciation and Tax)
(Rs.)

2,00,000
2,20,000
-2,50,000
2,60,000
3,00,000

gl B R =

If tax rate is 30% p.a. and the company

~uses straight line method for

depreciation—

(i) determine the cash flows after
taxes but before depreciation ;

(i1) calculéte the Net Present Value
(NPV) of the investment at 10%

discount rate;

(iii) comment whether to proposal
should be accepted or not.

[The present value of Re. 1 at 10%
discount rate (PVIF) for 5 years are
respectively 0-909, 0-826, 0:751, 0683
and 0621] 4+5+1=10
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ABC ff[6c% 10,00,000 537 UEE €61 e | : (iii) SBIACH! SO B T2 ©IF SO

SOyt el o SRCe <ot R dws | ) S |
Rl S SHCR| SR FRMPIS) 6 3= < | (10 i<l <131 219 5 T2 A 1 Gevla T
A GIRABIE OIICR, W% 2 (B oEfers - 3 @ 0-909, 0:826, 0751, 0-683 TIR:
& 2 0:621]
9 9 SR S99 SIS SRR ©eo |
fra «=eis _
™ SIS oY |
@R aE TR |
(Rs.)
1 12,0000 |
2 | 220,000 £~ NS
3 2,50,000
4 2,60,000
5 3,00,000
% T99 29 92R 30 *OIH S @ ATIEIE |
SRS A TECERD AR R FE—
() SR AR e Sw g o edrg
- Sfened ;

(@) 10 *eR< AT Fge RFEIGR 3121%'
TOAR F&T Sl w41 ;
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